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Mathematics

Solving Problems with Decimals

1. The total cost of an orange and a hat is $14.50. What is the cost of the hat if

the cost of the orange is $3.20?

2. Pete ran 14.9 seconds and Paul ran 13.6 seconds. How fast did they run

altogether?

3. Mark weighed two bags of marbles. The first bag was 18.28 pounds. The

second was 12.13 pounds. How much pounds were they altogether?

4. Dorothy spent $10.20 to purchase pencil and a pen together. How much

would she have spent on the pen if she spent $5.65 for the pencil?

5. Henry went to the pet store. He bought three kittens. The back kitten was
4.12 oz, the white was 5.13 oz and the orange was 6. 15 oz. How many

ounces were they altogether?



